Government of Haryana
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Q6. is the synonym of "RAGE".

A. Calm B. Quiet

C. Anger D. Serene
Q7. is the antonym of "CORDIAL"

A. Friendly B. Warm
C. Rude D. Pleasant

Q8. Identify the meaning of the idiom in the sentence.

"I am late as I got held up at the office."
A. Stopped B. Detained
C. Delayed D. Kept

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence.

"I wrote last week a letter to him."
A. I have written him a letter last week. B. I wrote a letter to him last week.

C. I wrote him a letter last week. D. I have wrote a letter to him last week.

Q10. Complete the sentence by choosing the correct form of the verb given in brackets.

Vishnu and Vishal (like) to read books about stars.
A. liked B. likes
C. like D. liking

Q11. During the Indian National movement, Shaheed Bhagat Singh belonged to the
group who believed in adopting violent methods and aspired to organise an
armed mass revolution to drive away the British from the country.

A. Moderate B. Extremist

C. Revolutionary D. Nationalist
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Q11. R I e F ek, Mg 1T g, g ¥ wallT & A B adF i v A
e X & 3T AT & ST FY TS F AT TF FAET FAAHER FT AT FIAT A8 A

A. AEIH B. 3ifcarcy

C. shifdsry D. Iregarer

Q12. In the 16th Lok Sabha, seats go to the nominated members of the Anglo-
Indian community.

A.5 B. 4

C.2 D. No such reservation

Q12. 16 dtf s H, 1 tre-$Rae wHE™ & MfRa wewal & g e #)

A.5 B. 4

C.2 D. UHT IS HRETOT g1

Q13. According to our National Forest Policy, what percentage of land area should remain
covered by forest to maintain Ecological balance?

A. 5% B. 10%
C. 33% D. 80%

Q13. g TS a1 A & o, aIRTPUfAT Agerer F Fe1C T@a & A oA & 1 frce widera, Sorer @
THT g TIfRT?

A. 5% B. 10%
C. 33% D. 80%

Q14. Who wrote 'Natya - Shastra’, which is the main source of India's classical dances?
A. Bharat Muni B. Nara Muni
C. Abhinav Gupt D. Tandu Muni

Q14. ‘Arcg-are’ frae foar a1, Y 9Ra & AT T F AT A 82
A. 8T A B. R A

C. 3iffeq e D. dg A

May 1, 2019 Page 3 of 25



Haryana Staff Selection Commission

Government of Haryana

Adv. No. 1/2019 Cat. No. 01, Junior Engineer (Electrical)
(Uttar Haryana Bijli Vitran Nigam Limited, Haryana)
Morning Session

Q15. Haryana state was carved out of Punjab on basis.
A. Religion B. Linguistic

C. Population D. Geography

Q15. gR=mom T Fr AATr F IR 9T Yo & I FFam = an)
A. e B. &1

C. 3emer D. @e

N

Q16. Who won the First Battle of Tarain?

A. Mohammed Ghori B. Govind Tai

C. Prithviraj Chauhan D. Jayachandra

Q16. 1€ @ gudl 7318 fraar Sfir?

A. AlgFAS M B. Mfdg ars

C. g =gt D. g9

Q17. Commission was established to divide and set up the boundaries of Haryana
and Punjab.

A. Shah B. Sarkaria

C. Hukam Singh D. Kothari

Q17. &= 3R yame S Hiwmsit # fanfaa ik AuiRa &= & e TN Y TATAT ¥ 7S ot
A. g B. &X&IRAT

C. g &g D. HIERY

Q18. The new All India Institute of Medical Sciences (AIIMS) is to be set up at
district in Haryana.

A. Rewari B. Ambala

C. Mewat D. Rohtak

Q18. gRamom # o F ve v 3f@e et s weure (AIIMS) $Y 19 $t S g1
A. Yarsr B. 3fdTelr

C. #ard D. Jga®
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Q19. As on 1-April-2019, how many parliamentary constituencies are there in Haryana?

A. 11 B. 10
C. 12 D. 13
Q19. feaiF 1-3re-2019 T, gRAON & fFasr AT A= a7 &2
A. 11 B. 10
C. 12 D. 13

Q20. As on 1-April 2019, the minister of Sports & Youth Affairs, in the Haryana Cabinet is

A. Shri Narbhir Singh B. Shri Manish Grover

C. Shri Vipul Goyal D. Shri Anil Vij

Q20. fR&iF 1-3r%a 2019 T, gRAToN ABHT & Far F K Ger 7, gl
A. it &R &g B. A HAIY e

C. 4 fager aMzrer D. &Y 3ifaer s

Q21. The proposed Renukaji Storage Dam Project, as part of the Renukaji Multipurpose
Dam project, is to be built on which tributary of the Yamuna river?

A. Chambal B. Giri

C. Tons D. Sindh

Q21. YuHrsh FgsegNT aier aRAIS & v REX F T A, YFAAT Y[HSA STor $SROT sty IRAVSAT, JoAT A
# fF TgF A W T8 AT 82

A. TFe B. &

C. =g D. ey
Q22. Manu Bhaker, who hails from Jhajjar, is a famous

A. Hockey player B. Wrestler
C. Badminton player D. Sports Shooter
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Q22. TSR F TEA a1 A HHT T Ty |
A. gihT TQ@emey B. 9gdar
C. Ssfiea @amsr D. @« fAemaerst

Q23. The official language of Haryana is:

A. Haryanvi B. Bangur

C. Punjabi D. Hindi

Q23. gRITUM Fr FIHRY AT §:

A. gRToTdr B. a°X

C. gairer D. f&dr

Q24. is a famous poet and humorist of Haryana.
A. Kapil Sharma B. Surender Sharma
C. Ashok Chakradhar D. Pt. Neki Ram
Q24. gRATOT & vw yRiey HiF 3R e €

A. e AT B. gl e

C. 31Teh ThER D. ufsd s I

Q25. Who published a weekly magazine 'Haryana Tilak' in Urdu and Hindi from Rohtak
during the freedom movement?

A. Shri Raja Ram Shastri B. Pt. Neki Ram Sharma

C. Pt. Shri Ram Sharma D. Shri Bishambar Nath Kaushik

Q25. FadFdT Haee & Rt fraet Vgas ¥ 38 3R R F 'sRamon fas awe arcarfes afe gefa @ fi?
A. A ST T ATER B. dfSq a¥ehr T AT

C. ufsa &t T e D. A faresr &y i

Q26. Which amongst the following is mined majorly in Mahendragarh district of Haryana?
A. Slate B. Iron
C. Coal D. Bauxite
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Q26. g ¥ Afgs e F v & ¥ U1 wE T A @A R S @2

A. ¥l B. orgr

C. FIIer D. SfFase

Q27. Currently, Haryana has wildlife sanctuaries.

A. Four B. Three

C. Two D. Eight

Q27. adATT #, g & FEISIT ARV §

A. TR B. et

c.ar p. 36

Q28. Haryana is bordered by and to the north.
A. Punjab, Himachal Pradesh B. Punjab, Rajasthan
C. Rajasthan, Uttar Pradesh D. Himachal Pradesh, Rajasthan
Q28. gRarom Fir 35 @\ w ik Rua g1

A. UoTTe, fTaer Teer B. U, oTEdTeT

C. TSI, 3T 92l D. fgATIe weer, TsTeTT
Q29. Markanda river originates from the

A. Shivalik hills B. Aravalli hills

C. Sohna hills D. Morni hills

Q29. ATHS Adr ¥ Awad 81

A. Riarfaes ggrdy B. 3RTdcll YgIsT

C. HgaTT Jgiar D. ARG ggrar

Q30. What is the approximate forest cover in the state of Haryana?
A. 800 square kilometers B. 1200 square kilometers

C. 1500 square kilometers D. 1000 square kilometers
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Q30. gRATOM TS & FAIHT Tl a1 &7 82

A. 800 T9T fraitetex B. 1200 T frateiex

C. 1500 T97 fhairediex D. 1000 33T fapeiefex

Q31. The current Haryana Legislative assembly comprises of members.
A. 92 B. 90

C. 85 D. 80

Q31. A gRIOT RererasT # TEET §l

A. 92 B. 90

C. 85 D. 80

Q32. is the biggest constituency of Haryana Legislative Assembly in terms
of area.

A. Kaithal B. Faridabad

C. Hisar D. Jind

Q32. &% AT T F gRAToN Ryt worm w1 Fad w21 AatEa & §

A. Faa B. ®wigraTg

C. RaR D. Sifg

Q33. The female literacy percentage in Haryana, as per 2011 census is: (rounded off to the
nearest whole number)

A. 85% B. 66%
C.73% D. 54%
Q33. 2011 F¥ FAAVET & HTAR, §RAToN F AlRAT FHawar Fv wfawwa 8 (Meeas oof der #)
A. 85% B. 66%
C. 73% D. 54%

Q34. Which city of Haryana is known as "City of Weavers"?
A. Rohtak B. Panipat

C. Hisar D. Rewari
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Q34. RN ¥ W AT F "TAFI FT AT FeT AT 82
A. Ugdeh B. ureiad
C. fgar D. Ya&rar

Q35. Which is the biggest exporter of henna in India?
A. Rewari B. Gurgaon

C. Faridabad D. Rohtak
Q35. ¥R # Agd) FT T 31 AT *iT 82

A. @S B. [sTia

C. BlieETg D. Vg

Q36. Biggest Animal Fair in Haryana is held in _______ district.

A. Jhajjar B. Gurugram

C. Bhiwani D. Sonipat

Q36. eRATT A gaR agTu A ek & amafora R simar 21

A. STooR B. J&aH

C. faret D. |idad

Q37. The first CNG train of India runs between Rohtak and of Haryana.
A. Bhiwani B. Jhajjar

C. Rewari D. Jind

Q37. #Rd # ggel @.UA.3N. 2, gRamon & Ugaw 3k & e T B

A. fRar B. sTooX

C. amEr D. Siig

Q38. In the dance form, the songs are in the question and answer format.
A. Loor B. Phag

C. Raas Lila D. Jhummar
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Q38. T T H, M, ware 3 3 F T H A F
A. T B. ®raT
C. g ofrer D. 3R

Q39. Which fair of Haryana is called "craftsman's kumbha"?

A. Teej Mela B. Diwali Mela

C. Pehowa Mela D. Surajkund Mela
Q39. eRATT F Ry AN FY "FRRT FT F" FET AT 82

A. A e B. fearelr #er

C. uglar #arr D. IFSTHs Hell

Q40. Find the odd-one out in the following series:

Google Chrome, Internet Explorer, Firefox, Microsoft Windows
A. Internet Explorer B. Microsoft Windows

C. Firefox D. Google Chrome

Q40. AFafaf@a # ¥ RvH-erg g3

T FIA, $TIAC TFACART, FRTGIH, ABFHEITE &Aster

A. LT TFHACART B. AghIAde fasst

C. BRI D. [Tl 1A

Q41. Choose the correct option that best expresses a relationship SIMILAR to that
expressed in the original pair:

Mango: Fruit :: Bitter Guard:
A. Green B. Vegetable
C. Bitter D. Long
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Q41. uél RFew T I du1 & wrawyr Rwmar ¥ Star aFaeyr Jrwelt S R 3:
3T B :: AT :
A & B. Heall

C. shgar D. of&sT

Q42. Find the next number:

1,5,12, 22, 35,

A. 42 B. 47
C. 59 D. 51

Q42. 3T FaT g3

1, 5, 12, 22, 35,
A. 42 B. 47
C. 59 D. 51

Q43. In a code language if QUESTION is coded as RWFUUKPP, then ANSWER will be coded
as

A. BPTYFT B. BOTXFS
C. BMRVDQ D. BPRTVF
Q43. TF F5 #WT A, I QUESTION ' RWFUUKPP fa@r Srar § af ANSWER & &1 fa@r sirean?

A. BPTYFT B. BOTXFS
C. BMRVDQ D. BPRTVF

Q44. Find the probability of drawing a slip labeled as 5 from a bag containing 4 slips labeled
as 3, 5, 8 and 9.

A1 B. 1/4
C. 2/4 D. 3/4
Q44. 3, 5, 8 3ilx 9 FaX Fir afAY aTer v F7 A ¥ 5 AT A gft F AwTA A FY FHTAAT AT A
A1 B. 1/4
C. 2/4 D. 3/4
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Q45. Divide Rs. 90 in the ratio 1 : 2 between Ajay and Abhi.

A. Ajay = Rs. 70, Abhi = Rs. 20 B. Ajay = Rs. 50, Abhi = Rs. 40
C. Ajay = Rs. 30, Abhi = Rs. 60 D. Ajay = Rs. 40, Abhi = Rs. 50
Q45. 90 FU F 3oy AR H & 1 : 2 F sregara # a1

A. 35T = 70 T, Hfd = 20 T B. 3151 = 50 ¥9d, 3 = 40 T0F
C. 351 = 30 T, & = 60 T D. 3151 = 40 ¥99, M = 50 T94

Q46. Rahul purchased a cycle for Rs. 800 and sold it for Rs. 1040. Find his gain percent.

A. 10% B. 15%
C. 20% D. 30%
Q46. IE A 800 I9A A T Wisfher @ler 3N 3/ 1040 9 # ¥ feram| 3@ e ufdera wmsr gam?
A. 10% B. 15%
C. 20% D. 30%

Q47. What is the bending of light rays, due to a change in speed as the rays pass through a
substance, called?

A. Reflection B. Refraction
C. Diffusion D. Diffraction

Q47. TF 9ard { 1FT I arelt gehrer #r ot i aifer & afacder gl & Fror fBeont & o Fr gftear & #=r
FgT SATaT 82

A. TR B. 3qdce

C. R D. faads

Q48. The of a substance does not change when a physical or chemical change
occurs to the substance.

A. density B. mass

C. state of matter D. colour

Q48. % terd # sifaF a1 THEfAE aRade 81 W, 39 et & & :1§ yRader ¢t gar g1

A. Telca B. GeUATT

C. uard &1 e D. &1
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Q49. What is function of a leaf?

A. Photosynthesis

C. Transporting nutrients

Q49. gdlY FT FT F §?
A. JehTI HLYOT

c.q’rwac?qgmm

Q50. 1 metre = ? millimetre
Al
C. 100

Q50. 1 #Hrex =? el
A. 1
C. 100

Morning Session

B. Water transportation

D. Preventing desiccation

B. 5Tef 9RagsT
D. g@= & ehedl

B. 10
D. 1000

B. 10
D. 1000

Q51. Why do we provide a fuse in an electric circuit?

A. To reduce the current flow in an electric circuit

C. To safeguard the installation against heavy

current

Q51. UF safFe Affe # v F41 vareT B s 82
A. soifdcah dfdhe # FT & JaTE H HH el & o0
C. o T o Taeee SECTRIET &l &I el & v

B. To reduce the power consumption of appliances

D. To prevent the accumulation of static charge

B. 390N T fSsTell T @Ud &t e Fla & fow
D. Tfew arst & TaF &l el & foIT

Q52. Electrical Resistivity or specific resistance is measured in « (SI units)
A. Qym? B. /m
c. O-m2 D. Om

Q52. fagge gfearrusar sryar fafise gfey #t

A. Q/m2
c. O-m2

May 1, 2019
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Q53. If a current of 5 ampere flows for 1 minute, find the quantity of electricity transferred.
A. 300 Coulomb B. 12 Coulomb
C. 5 Coulomb D. 0.08 Coulomb

Q53. afX 5 Wi i Rgga awr 1 Bee F v gy gt § | at vaeiale Rl #r amr a Hifsd
A. 300 FerFs B. 12 ForFa

C. 5 FHowa D. 0.08 Fews

Q54. The output of a voltage divider is 16 V with no load. When a load is now connected,
what happens to the output voltage?

A. Zero B. 16
C. < 16 D. > 16

Q54. TF dIee ATEST FT M3eYC faar el 9T F 16 V ¥ | ST FI§ 0K SAST A1 §, A H13¢Ye dedsr W FAT
YHTF §19M?

A. =T B. 16

C. < 16 D. > 16

Q55. Why are separators provided in a lead-acid battery?
A. Reduce polarisation B. Prevent corrosion and increase life of battery

C. Prevent flow of current D. Prevent internal electrical short circuits

Q55. iz-ufAs 3 & Rurers F4) verw v o §2

A. YEHRIOT HH F & foT B. &T0T Uahet 3R e & FREFHA dg1 & fow
C. faegd & yarg I Akt & fow D. 3dRe saifagad 2iic Afhe A Adhat & fow
Q56. 1 Watt is equivalent to

A. 1 Joule/second B. 1 Volt/metre

C. 1 Newton/metre D. 1 Ampere/metre

Q56. 13 FaeR @t il

A. 1 S[el/qhs B. 1 dlee/#IeX

C. 1 7gga/#ex D. 1 TFiRR/#HIX
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Q57. Select the equation that will give the total resistance (RT) of three parallel resistors
(R1, R2, R3) connected in parallel in a circuit.

A RT =R1+R2+R3 5 RT =R1 X R2XR3
1_1+1+1 RT_1+1+1
o RT R1 R2 R3 5 " R1 R2 R3

Q57.wmﬁ,mmﬁ§?§wmﬂmmﬁﬁ(k1, R2, R3) &I Fel FfoRIY el FI arel
FHYRIOT FT T FL

A RT=R1+R2+R3 s, RT =R1 X R2 X R3
i 1 i § 1 1 1 1
— =t —t+— RT=—+—+—
C. RT R1 R2Z R3 b Rl R2 R3
; i1
i2
—_— is
7N\
/
/-—;I 1‘\'\ 4
/i3
Q58. 4 X

Refer the given circuit. Which of the following equations is correct about the current in this
network, according to Kirchhoff's Current law (KCL)?

Alil=i2+i3+1i4 +i5 B.il+i2+i3=i4+i5
C.il+i2+i5=i3+i4 D.il1+i5=i2+i3 +i4
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Q58.
few v wffe Ft &d| qur Bare F & iE Fe F ITAR, 3 Acad J I & aR A wfaf@a # F Fa @
wHtEwTor wE § sweT iR F3?

Alil=i2+i3+i4 +i5 B.il+i2+i3=i4+i5

C.il+i2+i5=i3+i4 D.il1+i5=i2+i3 +i4

Q59. Resistance of a wire of length L metres is R ohms. What happens to the resistance if
the wire is stretched to 2L?

A. Remains the same B. Increases by 2 times

C. Increases by 4 times D. Decreases by 2 times

Q59. L #lex i dFa1g & T ar H1 9fa0y R 307 ¢ | I ar 2L a& $ar @ aY vfaer 93 =21 wsna gen?
A. F1$ aRact w7t gram B. ST §¢ SR

C. IR [T §¢ S D. EI3[AT & g ST

Q60. According to Maximum Power Transfer Theorem, maximum power is transferred from
an AC network to a load when

A. Load impedance (Z.) must be equivalent to B. Load current (I.) is equal to short circuit

Z7t1 (complex conjugate of corresponding circuit current (Isc) multiplied by internal resistance of
impedance) the circuit (Rint)

C. Load impedance (Z.) must be equivalent to D. Load current (I.) is equal to short circuit
inverse of Zty (complex conjugate of current (Isc) divided by internal resistance of the
corresponding circuit impedance) circuit (Rint)
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Q60. TR AT IwaoT TAT WA F HAR, I HfAFAH ITaT FT AC Aca® & A3 W FATAARA fam Srar
gaa___ 0|

A. 33 SfAeTer (ZL) 7 Zn (Tt IR9Y gfaerer &1 B. s & (1), At & TdRen TR (Rine) 0T

Sfeer §Y9a) & SRR QAT AT A€ Tfhe e (Isc) & SRR gIaT &
C. &3 ufasmar (20), Zw (Ferd aRkay gfdsrer &1 afed  D. &g ae (1), afhe & 3maRke afa’ier (Rin), E@RT
{-igdd-l a?ceicgnd-l & ST BT I1fgT faanfora e afée Hie (Isc) F TR g1ar &

Q61. Why do we use carbon brushes in electric motors?

A. To transfer electricity to the commutator B. To prevent short circuit sparking when current
is flowing to the commutator

C. To strengthen the armature winding D. To prevent wear and tear of the winding

Q61. &7 FafFesd AleH & FIdeT T FT 39T FAT IS &2

A. RFaRad® FI et Tedm Htet & fav B. 5 feFaRads & ae yarfed & @1 &1, ar are afde
TATRHRIT T Ahe? & forw

C. 3R aTgfEa &Y AT A & faT D. argfSar T ge-phe &l Ushat & foITw

Q62. If we need to generate large current, which winding is preferred on the DC
generators?

A. Wave winding B. Duplex wave winding

C. Lap winding D. Both lap and wave windings can be used
Q62. IfE g & URT 3cqeeT FXaA Y JTERIHT ¢, a DC Favel W Hlr W aEfEar sugaa gef?

A. 37 af B. o 3 aTsfe

C. oy arsfsar D. gt o 31X g arsfSer s 39er fahar S Hehal &

Q63. By reducing the thickness of laminations, the Eddy current losses in a transformer

A. is reduced B. remains the same

C. is increased D. keeps fluctuating
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Q63. dfFAereT i A F F7 FIa T, FFH THEER & siaw ary Hi gy |
A. FH g1 S B. IO o &9 & e
C.dg T & D. ged Jedl @l &

Q64. A 10-pole high-speed alternator rotates at 600 rpm. What will be the frequency of the
AC voltage in cycles per second?

A. 120 B. 100
C. 80 D. 50
Q64. UF 10-9ie F1 3= 1T YeArafedd 600 rpm W AT §1 A WEF /A3 # AC diees it angfa =1 gefr?
A. 120 B. 100
C. 80 D. 50

Q65. Which of the following is an important condition to conduct the Sumpner's test on
transformers?

A. Can be conducted only on actual load B. Can be employed only when two identical
transformers are available

C. Can be conducted only when the transformer D. Can be performed only as Short Circuit (S.C.)

gets high power test

Q65. THFHY #H FIX FT TeTor %+t & fow, Frafaf@a & & wia & ve FAgcaqor o 32

A. Shadl adidSd s W AT T ST Thell & B. Shad &l AR CEHER 3UdsY gl 9 HAfoia
foRaT ST Thar §

C. shad el 3rATorT R ST Tl § 519 SiBRER & D. shddl Q¢ Fiehe (S.C) gdiefor & &9 & yeftia fmar s

o afea e & hll &

Q66. Which of the following statements is TRUE about the relationship of maximum torque
and rotor resistance in a 3-phase induction motor?

A. Maximum Torque is Directly proportional to B. Maximum Torque is Directly proportional to
rotor resistance square of rotor resistance

C. Maximum Torque is Indirectly proportional to D. Maximum Torque is independent of the rotor
rotor resistance resistance
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Q66. 3-%r WoT A # rfdwas ae mrget 3k goie sfeder & woaey & Fia @1 Fya a7 3?

A. TR doT JTYCT, Foeh TicRIY & FAEUCT gIaT ¢ B. 31T&Iehcs Sof 3MTEOT, GUTh YTCRIE & a7 & FHATITCT
gl &

C. Jfehas For AT, HTcAET T § gUTH Yioer & D. TR st e, gote gfader @ Fadd giar &
3reTTferes g §

Q67. When classifying the hydro electric power projects based on the type of flow of water
in the water turbines, the Kaplan turbines are

A. Tangential flow turbines B. Inward Radial flow turbines

C. Axial flow turbines D. Impulse turbines

Q67. I gT33! SATFEH TraT IRAISIIH F, Tt & eaigell # Uit & Jare & TR & YR W @G Fd ¢, a
HIAT BT g gl

A. T vaTg exars B. 3dRe I3Te yag xas
C. 3780 yaTg el D. 339 T&TsaT

Q68. Which of the following CANNOT be used as an atomic fuel in a nuclear power plant?

A. Uranium B. Thorium

C. Plutonium D. Titanium

Q68. frarfaf@a # & Flar 7T T, WA Tt TIT H AT $UT F TT & FTAATS Ig1 H AT ST Fehell £2
A. A B. uIiRaH

C. woet=aH D. crsefaad

Q69. What is the source of energy in a thermal power plant?

A. Coal B. Water
C. Wind D. Uranium
Q69. a9 fagga ¥4 # FaIT FT W FAT g 82

A. el B. 9=l

C. gar D. ATH
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Q70. Which of the following is NOT true about A.C. power transmission?

A. Power can be generated at high-voltage B. Voltages can be easily stepped-up and down
C. Less loss of power during transmission D. Effective resistance during transmission is low
Q70. AFafaf@d & @ Fia 91 Fu=, A.C. IR THRUT & IV & TF AL 8?2

A. 3TT-diees W TEsTell 3cdeet &1 ST Fehell © B. dleest &l AN & -1 AT S Gl &

C. TR & SR oty HT g FF el & D. ARG F ERIeT THIET G e 8iar &

Q71. Which of the following is NOT a property of good conductor of electricity?
A. Low resistance B. High electrical conductivity

C. Low specific gravity D. Low tensile strength

Q71. farafaf@a # & Flar 71 v Rarelt & < wraw F1 70T 7L B2
A. &H gfaer B. 3= faegd drerehdr

C. & fafrse qoca D. &H delsT GrHZY

Q72. Capacitance between the two conductors of a single-phase two-wire line is 1 #F/km.
What will be the capacitance of each conductor to the neutral?

A. 1 HF/km B. 2 #F/km

C. 0.5 #F/km D. Zero

Q72. v fAere-%er T-aRR AT & ar Areran! 1 aTRar 1 #F/km 1 BRmaeh sraeen & g% aras i aiar #=r
aaf?

A. 1 #F/km B. 2 #F/km

C. 0.5 #F/km D. ==

Q73. Which welding is used to fix broken railway lines?

A. Carbon arc welding B. Solid state welding
C. Resistance welding D. Thermit welding
Q73. T g€ Yod Al 1 8% F & fow g afegar &1 swaier fvar simar 82

A. FaeT 3T dfesar B. ard 31w afesar
C. gfarer afesar D. yffe afesar
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Q74. In lamps, the discharge through the vapour produces UV waves, which
causes phosphor coating on the inside of the bulb to glow.

A. Incandescent B. Fluorescent

C. Gas-discharge D. Filament

Q74. d9 &, arsg F Areyw F [T UV G 1 F:3ar 8, 9 9o9 & Iee BIEHR FIfeTr yeafaa
g ¥

A. 3Ereq B. wfadifca

C. -fTagser D. fhame

Q75. In a workshop, the distance between the light source and the work surface is
considerably large. The illumination of the surface is to the square of the
distance between the surface and the light source.

A. equal B. directly proportional

C. inversely proportional D. not related

Q75. UF FRIATAT A, Y1 Wi 3R 1 1 Tag F €= 1 gt FTHT FATET 81 37 Tag A GGHod, a8 3 T
T & T g F at F gt

A. ST B. AT
C. SgcshaATaTel D. 3T

Q76. Which of the following is NOT an advantage of ball bearings over sleeve bearings?
A. Can be mounted in any orientation B. Are more economical

C. Can operate in a higher range of temperature D. Has a long lifetime
Q76. Prafaf@a # ¥ #ia a1 v Tha-RAlew & s ata-Rafiew 1 anr a6 §2
A. T ofr rffaeara & TurRa fhar s @ear g B. 31T fRwrIch ghar &

C. argATT T 3= o &F TaTersT T GehdT & D. oIFST SlidedenTel glaT &
Q77. Which type of electric drive is used in a travelling crane?

A. Group Drive B. Individual Drive

C. Multi-motor Drive D. Static Drive
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Q77. afawr &l & fFE YR 1 safFed 3139 1 39AT fFaT ST 82
A. §Fg 315d B. aferdard giga
C. #Fedl Al 38a D. €©&fes 3139

Q78. Lumen is the unit of

A. Luminous flux B. Luminance

C. Luminescence D. Incandescence
Q78. A= $1 ghs 1

A. AR werd B. Jf#=d

C. s D. 3edfea

Q79. Periodic time (T) which is the time period of a waveform is the reciprocal of

A. Amplitude B. Frequency

C. Resonance D. Time Constant
Q79. 3radf #7T (T), Y v 39 Biet A FAAEW &, FT A B
A. 3T TH B. g

C. 3eTe D. ¥AY feeRih

Q80. The ratio of Real power (resistance) and Apparent power (impedance) in an AC circuit
is called

A. Peak Factor B. Form Factor

C. Power Factor D. Crest Factor

Q80. fHt AC Ry # areafas 3t (9faier) stk wewer 391 (wfcamem) & sreqara #t T AT ¢
A. i tharet B. wleT thaeX

C. gfev therex D. shee therex
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Q81. Which of the following statement is true about RMS voltage?

A. RMS voltage of a sinusoidal waveform is B. Most multi-meters measure RMS value
inversely proportional to the peak voltage. assuming a non-sinusoidal waveform.

C. The RMS value of a sinusoidal waveform gives D. The ratio of the RMS value of voltage to the

double the heating effect than a DC current of the maximum value of voltage is the same as the

same value. ratio of the RMS value of current to the maximum
value of current.

Q81. RMS alees & HFay A Aefai@d & ¥ Fid 41 FI7 T 82
A. T SATGHTT TRIT FT RMS diees, IR dieest & B. 3rferemier #Aedi#fier RMS e &1 IR-SATThIT HAela

SGchATIITCT BYelT B AT B

C. Tsh SITEshig AT T RMS #Hed, 38T #{ed & DC URT  D. dledsl & Ushdd Hed W dlecst & RMS #Hed &l

Y JoIAT A ST A9l F81Td ST Bl 3T, YRT & A Hed W URT & RMS Hed &
39T o SIS gl Bl

Q82. What is the mean value of alternating current for one complete cycle?

A. 1 B. 2
C.0 D. 3
Q82. t% YUt T% & fav yeamadt ey #1 sitwa AT #4782
A. 1

C.0 D. 3

Q83. Calculate the impedance of a circuit when the resistance is 3 ohms and the inductive
reactance of the circuit is 4 ohms.

A. 49 ohms B. 1 ohm

C. 7 ohms D. 5 ohms

Q83. 3« U Afke &1 ufaier 3 3#, aur GiFe A W& H1WFar 4 37 &, ar afee A gfdara, H ToEar oA
A. 49 3H B. 13&#

C.7 3= D. 5 30#H
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Q84. Which meter amongst the following is the combination of both ammeter and
voltmeter?

A. Wattmeter B. Energy meter

C. Multimeter D. Frequency meter
Q84. Arafaf@a & ¥ wi7 1 Aex, wiex 3k Aeesiex =t &1 G 2

A. areHiex B. 3aif #Hiex

C. AcEHRY D. g #Hrex

Q85. Which amongst the following unit cannot be measured by multimeter?

A. Current B. Voltage

C. Resistance D. Frequency
Q85. AFIH & garT AraAfaf@a # & Fw s&$ F 7t AT 571 Fhel 82
A. T B. aecst

C. gfarer D. 3mgfy

Q86. Watt hourmeter is which type of instrument?
A. Integrating instrument B. Recording instrument

C. Indicating instrument D. Absolute instrument

Q86. TE-ITa-HIX fFH TFR FT 3TFHIT 2?

A. SEaIfEaT 3ushyoT B. Reifer 3qaor
C. $3hfear 3uaor D. TaHIeYE 3UHOT

Q87. Identify the instrument which can be used only in AC circuits.

A. Moving iron voltmeter B. Multimeter

C. Induction type wattmeter D. Permanent magnet moving coil meter
Q87. 3W YT T YgaleT &Y, fowet 3uaer AF AC IRuy & 7 51 Fohar &

A. T IR decHIET B. HedrHex

C. $32 TI3Y dlcHIeT D. WATE AT AT Fardel Hel
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Q88. Which instrument is used to measure very high resistance of insulation?

A. Tong tester B. Megger

C. Earth tester D. Tachometer

Q88. gl & 3ea YAy F AT F A frw susor FT 3= AT SAr 32
A. ST TFX B. AR

C. T3 &¥X D. &

Q89. A moving coil instrument has a resistance of 95 ohm and a current capacity of 1mA. It
is to be used as an ammeter which has full scale reading of 10A. What will be the resistance
of the internal shunt?

A. 95 ohm B. 9.5x10"% ohm

C. 9.5x1073 ohm D. 9.5x10°2 ohm

Q89. wF arfarefier Felt F1 wfoRier 95 3N TUT URT &THAT 1MA ¥1 SHHT 3TN TF THIY & & & B o1 B,
st 10A #r qot aAaer {fSar sueretr 81 maRe e Far gfoaxrer F=r gom?

A. 95 3NH B. 9.5x10% 30H

C. 9.5x1073 3&#H D. 9.5x1072 31H

Q90. Which of the following is an example of pentavalent impurity used in N-type
semiconductors?

A. Boron B. Phosphorus

C. Gallium D. Aluminium

Q90. AFafla # & Fla1 71 tF, N-Y&R & Irdaraal 3 AT HY 1 arelt TT-HATH IHYGYUAT FT 3T6 g
A. R B. BIEhRH

C. aiforan D. TegHIgH
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